# ON THE ABSOLUTE MATRIX SUMMABILITY FACTORS OF FOURIER SERIES 

ŞEBNEM YILDIZ


#### Abstract

In this paper, a general theorem on the local property of the $\left|\bar{N}, p_{n} ; \delta\right|_{k}$ summability of factored Fourier series, which generalizes some known results has been extended to absolute matrix summability factors of Fourier series.


## 1. Introduction

Let $\sum a_{n}$ be a given infinite series with partial sums $\left(s_{n}\right)$. Let $\left(p_{n}\right)$ be a sequence of positive numbers such that

$$
P_{n}=\sum_{v=0}^{n} p_{v} \rightarrow \infty \quad \text { as } \quad n \rightarrow \infty, \quad\left(P_{-i}=p_{-i}=0, \quad i \geq 1\right)
$$

The sequence-to-sequence transformation

$$
t_{n}=\frac{1}{P_{n}} \sum_{v=0}^{n} p_{v} s_{v}
$$

defines the sequence $\left(t_{n}\right)$ of the Riesz means or, simply, the $\left(\bar{N}, p_{n}\right)$ mean of the sequence $\left(s_{n}\right)$ generated by the sequence of coefficients $\left(p_{n}\right)$ (see [4]).

The series $\sum a_{n}$ is said to be $\left|\bar{N}, p_{n} ; \delta\right|_{k}$ summable, where $k \geq 1$ and $\delta \geq 0$, if (see [2])

$$
\sum_{n=1}^{\infty}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k+k-1}\left|t_{n}-t_{n-1}\right|^{k}<\infty
$$

In the special case, $p_{n}=1$ for all $n$ (resp., $\delta=0$ ), the $\left|\bar{N}, p_{n} ; \delta\right|_{k}$ summability is the same as the $|C, 1 ; \delta|_{k}$ (resp., $\left|\bar{N}, p_{n}\right|_{k}$ ) summability (see [1]).

A sequence $\left(\lambda_{n}\right)$ is said to be convex if $\Delta^{2} \lambda_{n} \geq 0$ for every positive integer $n$, where $\Delta^{2} \lambda_{n}=\Delta \lambda_{n}-\Delta \lambda_{n+1}$ and $\Delta \lambda_{n}=\lambda_{n}-\lambda_{n+1}$ (see [9]).

Let $A=\left(a_{n v}\right)$ be a normal matrix, i.e., a lower triangular matrix of nonzero diagonal entries. Then $A$ defines the sequence-to-sequence transformation, mapping the sequence $s=\left(s_{n}\right)$ to $A s=\left(A_{n}(s)\right)$, where

$$
A_{n}(s)=\sum_{v=0}^{n} a_{n v} s_{v} \quad n=0,1, \ldots
$$

The series $\sum a_{n}$ is said to be $\left|A, p_{n} ; \delta\right|_{k}$ summable, where $k \geq 1$ and $\delta \geq 0$, if (see [5])

$$
\sum_{n=1}^{\infty}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k+k-1}\left|A_{n}(s)-A_{n-1}(s)\right|^{k}<\infty
$$

If we take $a_{n v}=\frac{p_{v}}{P_{n}}$, then the $\left|A, p_{n} ; \delta\right|_{k}$ summability is the same as the $\left|\bar{N}, p_{n} ; \delta\right|_{k}$ summability. If we take $a_{n v}=\frac{p_{v}}{P_{n}}$ and $\delta=0$, then the $\left|A, p_{n} ; \delta\right|_{k}$ summability reduces to the $\left|\bar{N}, p_{n}\right|_{k}$ summability. Also, if we take $\delta=0$, then the $\left|A, p_{n} ; \delta\right|_{k}$ summability reduces to the $\left|A, p_{n}\right|_{k}$ summability (see [6]).

[^0]Given a normal matrix $A=\left(a_{n v}\right)$, we associate two lower semimatrices $\bar{A}=\left(\bar{a}_{n v}\right)$ and $\hat{A}=\left(\hat{a}_{n v}\right)$ as follows:

$$
\begin{equation*}
\bar{a}_{n v}=\sum_{i=v}^{n} a_{n i}, \quad n, v=0,1, \ldots \tag{1}
\end{equation*}
$$

and

$$
\begin{equation*}
\hat{a}_{00}=\bar{a}_{00}=a_{00}, \quad \hat{a}_{n v}=\bar{a}_{n v}-\bar{a}_{n-1, v}, \quad n=1,2, \ldots \tag{2}
\end{equation*}
$$

It should be noted that $\bar{A}$ and $\hat{A}$ are the well-known matrices of series-to-sequence and series-to-series transformations, respectively. So, we get

$$
A_{n}(s)=\sum_{v=0}^{n} a_{n v} s_{v}=\sum_{v=0}^{n} \bar{a}_{n v} a_{v}
$$

and

$$
\bar{\Delta} A_{n}(s)=\sum_{v=0}^{n} \hat{a}_{n v} a_{v}
$$

## 2. The Known Results

Let $f$ be a periodic function with period $2 \pi$, integrable $(L)$ over $(-\pi, \pi)$. We may assume that the constant term of the Fourier series of $f$ is zero, that is,

$$
\begin{gathered}
\int_{-\pi}^{\pi} f(t) d t=0 \\
f(t) \sim \sum_{n=1}^{\infty}\left(a_{n} \cos n t+b_{n} \sin n t\right) \equiv \sum_{n=1}^{\infty} C_{n}(t)
\end{gathered}
$$

In [3], Bor proved the following result dealing with the $\left|\bar{N}, p_{n} ; \delta\right|_{k}$ summability factors of Fourier series.
Theorem 2.1 ([3]). Let $k \geq 1$ and $0 \leq \delta<1 / k$. If $\left(\lambda_{n}\right)$ is a convex sequence such that $\sum p_{n} \lambda_{n}$ is convergent and

$$
\begin{aligned}
& \sum_{v=1}^{m}\left(\frac{P_{v}}{p_{v}}\right)^{\delta k} P_{v} \Delta \lambda_{v}=O(1) \quad \text { as } \quad m \rightarrow \infty \\
& \sum_{v=1}^{m}\left(\frac{P_{v}}{p_{v}}\right)^{\delta k} p_{v} \lambda_{v}=O(1) \quad \text { as } \quad m \rightarrow \infty \\
& \sum_{n=v+1}^{\infty}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k-1} \frac{1}{P_{n-1}}=O\left(\left(\frac{P_{v}}{p_{v}}\right)^{\delta k} \frac{1}{P_{v}}\right)
\end{aligned}
$$

then the $\left|\bar{N}, p_{n} ; \delta\right|_{k}$ summability of the series $\sum C_{n}(t) \lambda_{n} P_{n}$ at a point can be ensured by a local property.

In [7], Sulaiman has obtained a result from which a special case improved the result of [3] in the following form.

Theorem 2.2 ([7]). Let $k \geq 1$ and $0 \leq \delta<1 / k$. Let $\left(\varphi_{n}\right)$ be a complex sequence. If $\left(\left|\lambda_{n}\right|\right)$ is non-increasing such that $\sum p_{n}\left|\lambda_{n}\right|$ is convergent and

$$
\begin{align*}
& \sum_{v=1}^{m}\left(\frac{P_{v}}{p_{v}}\right)^{\delta k} \frac{p_{v}}{P_{v}^{k}}\left|\lambda_{v} \| \varphi_{v}\right|^{k}=O(1) \quad \text { as } \quad m \rightarrow \infty  \tag{3}\\
& \sum_{v=1}^{m}\left(\frac{P_{v}}{p_{v}}\right)^{\delta}\left|\Delta \lambda_{v}\right|\left|\varphi_{v}\right|=O(1) \quad \text { as } \quad m \rightarrow \infty  \tag{4}\\
& \sum_{v=1}^{m}\left(\frac{P_{v}}{p_{v}}\right)^{\delta k} \frac{1}{p_{v+1}^{k-1}}\left|\lambda_{v+1}\right|\left|\Delta \varphi_{v}\right|^{k}=O(1) \quad \text { as } \quad m \rightarrow \infty  \tag{5}\\
& \sum_{n=v+1}^{\infty}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k-1} \frac{1}{P_{n-1}}=O\left(\left(\frac{P_{v}}{p_{v}}\right)^{\delta k} \frac{1}{P_{v}}\right),
\end{align*}
$$

then the $\left|\bar{N}, p_{n} ; \delta\right|_{k}$ summability of the series $\sum C_{n}(t) \lambda_{n} P_{n}$ at a point can be ensured by a local property.

## 3. Main Result

The aim of this paper is to generalize Sulaiman's result in [7] for the $\left|A, p_{n} ; \delta\right|_{k}$ summability method.
Theorem 3.1. Let $\left(\varphi_{n}\right)$ be a complex sequence. Let $k \geq 1$ and $0 \leq \delta<1 / k$. Suppose that $A=\left(a_{n v}\right)$ is a positive normal matrix such that

$$
\begin{align*}
\bar{a}_{n 0} & =1, n=0,1, \ldots,  \tag{6}\\
a_{n-1, v} & \geq a_{n v}, \text { for } n \geq v+1,  \tag{7}\\
a_{n n} & =O\left(\frac{p_{n}}{P_{n}}\right) .
\end{align*}
$$

If $\left(\left|\lambda_{n}\right|\right)$ is non-increasing such that $\sum p_{n}\left|\lambda_{n}\right|$ is convergent and satisfy conditions (3)-(5) of Theorem 2.2 and the conditions

$$
\begin{align*}
\sum_{n=v+1}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k}\left|\Delta_{v}\left(\hat{a}_{n v}\right)\right| & =O\left(\left(\frac{P_{v}}{p_{v}}\right)^{\delta k} \frac{p_{v}}{P_{v}}\right) \quad \text { as } \quad m \rightarrow \infty  \tag{8}\\
\sum_{n=v+1}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k}\left|\hat{a}_{n, v+1}\right| & =O\left(\left(\frac{P_{v}}{p_{v}}\right)^{\delta k}\right) \quad \text { as } \quad m \rightarrow \infty \tag{9}
\end{align*}
$$

are satisfied, then the $\left|A, p_{n} ; \delta\right|_{k}$ summability of the series

$$
\sum_{n=1}^{\infty} C_{n}(t) \lambda_{n} \varphi_{n}
$$

at any point is a local property of $f$.
Lemma 3.1 ([8]). From conditions (1), (2) and (6), (7), we have

$$
\begin{aligned}
& \sum_{v=1}^{n-1}\left|\Delta_{v}\left(\hat{a}_{n v}\right)\right| \leq a_{n n} \\
& \left|\hat{a}_{n, v+1}\right| \leq a_{n n}
\end{aligned}
$$

Lemma 3.2 ([7]). If $\left(\left|\lambda_{n}\right|\right)$ is non-increasing such that $\sum p_{n}\left|\lambda_{n}\right|<\infty$, then $P_{n}\left|\lambda_{n}\right|=O(1)$, as $n \rightarrow \infty$.
Lemma 3.3. Let $\left(\varphi_{n}\right)$ be a complex sequence. If $\left(s_{n}\right)$ is bounded, and all the conditions of Theorem 3.1 are satisfied, then the series

$$
\sum_{n=1}^{\infty} a_{n} \lambda_{n} \varphi_{n}
$$

is $\left|A, p_{n} ; \delta\right|_{k}$ summable, where $k \geq 1$ and $0 \leq \delta<1 / k$, and $\left(\left|\lambda_{n}\right|\right)$ is the same as in Theorem 3.1.
Proof. Let $\left(I_{n}\right)$ denotes the A-transform of the series $\sum_{n=1}^{\infty} a_{n} \lambda_{n} \varphi_{n}$, then

$$
\bar{\Delta} I_{n}=\sum_{v=1}^{n} \hat{a}_{n v} a_{v} \lambda_{v} \varphi_{v}
$$

Applying Abel's transformation to this sum, we have

$$
\begin{aligned}
\bar{\Delta} I_{n} & =\sum_{v=1}^{n-1} \Delta_{v}\left(\hat{a}_{n v} \lambda_{v} \varphi_{v}\right) \sum_{r=1}^{v} a_{r}+a_{n n} \lambda_{n} \varphi_{n} \sum_{v=1}^{n} a_{v} \\
& =\sum_{v=1}^{n-1} \Delta_{v}\left(\hat{a}_{n v} \lambda_{v} \varphi_{v}\right) s_{v}+a_{n n} \lambda_{n} \varphi_{n} s_{n} \\
& =\sum_{v=1}^{n-1} \Delta\left(\hat{a}_{n v}\right) \lambda_{v} \varphi_{v} s_{v}+\sum_{v=1}^{n-1} \Delta \lambda_{v} \varphi_{v} \hat{a}_{n, v+1} s_{v}+\sum_{v=1}^{n-1} \Delta \varphi_{v} \lambda_{v+1} \hat{a}_{n, v+1} s_{v}+a_{n n} \lambda_{n} \varphi_{n} s_{n} \\
& =I_{n, 1}+I_{n, 2}+I_{n, 3}+I_{n, 4}
\end{aligned}
$$

To complete the proof of Lemma 3.3, it suffices to show that

$$
\sum_{n=1}^{\infty}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k+k-1}\left|I_{n, r}\right|^{k}<\infty, \quad \text { for } \quad r=1,2,3,4
$$

First, applying Hölder's inequality, we have

$$
\begin{aligned}
& \sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k+k-1}\left|I_{n, 1}\right|^{k} \leq \sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k+k-1}\left\{\sum_{v=1}^{n-1}\left|\Delta_{v}\left(\hat{a}_{n v}\right)\right|\left|\lambda_{v}\right|\left|\varphi_{v}\right|\left|s_{v}\right|\right\}^{k} \\
& \leq \sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k+k-1} \sum_{v=1}^{n-1}\left|\Delta\left(\hat{a}_{n v}\right)\right|\left|s_{v}\right|^{k}\left|\lambda_{v}\right|^{k}\left|\varphi_{v}\right|^{k} \times\left\{\sum_{v=1}^{n-1}\left|\Delta_{v}\left(\hat{a}_{n v}\right)\right|\right\}^{k-1} \\
& =O(1) \sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k+k-1} a_{n n}^{k-1}\left\{\sum_{v=1}^{n-1}\left|\Delta_{v}\left(\hat{a}_{n v}\right)\right|\left|\lambda_{v}\right|^{k}\left|\varphi_{v}\right|^{k}\right\} \\
& =O(1) \sum_{v=1}^{m}\left|\lambda_{v}\right|^{k}\left|\varphi_{v}\right|^{k} \sum_{n=v+1}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k}\left|\Delta_{v}\left(\hat{a}_{n v}\right)\right| \\
& =O(1) \sum_{v=1}^{m}\left(\frac{P_{v}}{p_{v}}\right)^{\delta k} \frac{p_{v}}{P_{v}}\left|\lambda_{v}\right|^{k}\left|\varphi_{v}\right|^{k} \\
& =O(1) \sum_{v=1}^{m}\left(\frac{P_{v}}{p_{v}}\right)^{\delta k}\left(P_{v}\left|\lambda_{v}\right|\right)^{k-1}\left|\lambda_{v}\right|\left|\varphi_{v}\right|^{k} \frac{p_{v}}{P_{v}^{k}} \\
& =O(1) \sum_{v=1}^{m}\left(\frac{P_{v}}{p_{v}}\right)^{\delta k}\left|\lambda_{v}\right|\left|\varphi_{v}\right|^{k} \frac{p_{v}}{P_{v}^{k}} \\
& =O(1) \text { as } m \rightarrow \infty
\end{aligned}
$$

by virtue of the hypotheses of Lemma 3.3 and by using condition (3) of Theorem 2.2, condition (8) of Theorem 3.1 and also taking into account Lemma 3.1 and Lemma 3.2. Now, using Hölder's inequality, we have

$$
\sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k+k-1}\left|I_{n, 2}\right|^{k} \leq \sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k+k-1}\left\{\sum_{v=1}^{n-1}\left|\hat{a}_{n, v+1}\right| \Delta \lambda_{v} \| \varphi_{v}| | s_{v} \mid\right\}^{k}
$$

$$
\begin{aligned}
& =O(1) \sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k+k-1} \sum_{v=1}^{n-1}\left(\frac{p_{v}}{P_{v}}\right)^{\delta k-\delta}\left|\hat{a}_{n, v+1}\left\|\Delta \lambda_{v}\right\| \varphi_{v} \| s_{v}\right|^{k} \times\left\{\sum_{v=1}^{n-1}\left(\frac{P_{v}}{p_{v}}\right)^{\delta}\left|\hat{a}_{n, v+1}\left\|\Delta \lambda_{v}\right\| \varphi_{v}\right|\right\}^{k-1} \\
& =O(1) \sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k+k-1} a_{n n}^{k-1} \sum_{v=1}^{n-1}\left(\frac{p_{v}}{P_{v}}\right)^{\delta k-\delta}\left|\hat{a}_{n, v+1}\left\|\Delta \lambda_{v}\right\| \varphi_{v}\right| \times\left\{\sum_{v=1}^{n-1}\left(\frac{P_{v}}{p_{v}}\right)^{\delta}\left|\Delta \lambda_{v}\right|\left|\varphi_{v}\right|\right\}^{k-1} \\
& =O(1) \sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k}\left\{\sum_{v=1}^{n-1}\left(\frac{p_{v}}{P_{v}}\right)^{\delta k-\delta}\left|\hat{a}_{n, v+1}\left\|\Delta \lambda_{v}\right\| \varphi_{v}\right|\right\} \\
& =O(1) \sum_{v=1}^{m}\left(\frac{p_{v}}{P_{v}}\right)^{\delta k-\delta}\left|\Delta \lambda_{v} \| \varphi_{v}\right| \sum_{n=v+1}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k}\left|\hat{a}_{n, v+1}\right| \\
& =O(1) \sum_{v=1}^{m}\left(\frac{p_{v}}{P_{v}}\right)^{\delta k-\delta}\left(\frac{P_{v}}{p_{v}}\right)^{\delta k}\left|\Delta \lambda_{v} \| \varphi_{v}\right| \\
& =O(1) \sum_{v=1}^{m}\left(\frac{P_{v}}{p_{v}}\right)^{\delta}\left|\Delta \lambda_{v} \| \varphi_{v}\right| \\
& =O(1) \quad m \rightarrow \infty,
\end{aligned}
$$

by virtue of the hypotheses of Lemma 3.3 and by taking condition (4) of Theorem 2.2 and also condition (9) of Theorem 3.1. Further, we have

$$
\begin{aligned}
& \sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k+k-1}\left|I_{n, 3}\right|^{k} \leq \sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k+k-1}\left\{\sum_{v=1}^{n-1}\left|\hat{a}_{n, v+1}\right| \Delta \varphi_{v}| | \lambda_{v+1}| | s_{v} \mid\right\}^{k} \\
& =O(1) \sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k+k-1} \sum_{v=1}^{n-1}\left|\Delta \varphi_{v}\right|^{k}\left|\hat{a}_{n, v+1}\right| \frac{\mid \lambda_{v+1}^{k-1}}{p_{v+1}^{k-1}} \times\left\{\sum_{v=1}^{n-1}\left|\hat{a}_{n, v+1}\right|\left|\lambda_{v+1}\right| p_{v+1}\right\}^{k-1} \\
& =O(1) \sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k+k-1} a_{n n}^{k-1} \sum_{v=1}^{n-1}\left|\Delta \varphi_{v}\right|^{k}\left|\hat{a}_{n, v+1}\right| \frac{\left|\lambda_{v+1}\right|}{p_{v+1}^{k-1}} \times\left\{\sum_{v=1}^{n-1}\left|\lambda_{v+1}\right| p_{v+1}\right\}^{k-1} \\
& =O(1) \sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k} \sum_{v=1}^{n-1}\left|\Delta \varphi_{v}\right|^{k}\left|\hat{a}_{n, v+1}\right| \frac{\left|\lambda_{v+1}\right|}{p_{v+1}^{k-1}} \\
& =O(1) \sum_{v=1}^{m}\left|\Delta \varphi_{v}\right|^{\mid} \frac{\left|\lambda_{v+1}\right|}{p_{v+1}^{k-1}} \sum_{n=v+1}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k}\left|\hat{a}_{n, v+1}\right| \\
& =O(1) \sum_{v=1}^{m}\left(\frac{P_{v}}{p_{v}}\right)^{\delta k}\left|\Delta \varphi_{v}\right|^{k} \frac{\left|\lambda_{v+1}\right|}{p_{v+1}^{k-1}} \\
& =O(1) m \rightarrow \infty,
\end{aligned}
$$

by virtue of the hypotheses of Lemma 3.3 and using condition (5) of Theorem 2.2, condition (9) of Theorem 3.1 and also taking Lemma 3.1 and Lemma 3.2. Finally, by virtue of the hypotheses of Lemma 3.3 and using condition (3) of Theorem 2.2 and taking Lemma 3.2, we have

$$
\begin{aligned}
\sum_{n=1}^{m}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k+k-1}\left|I_{n, 4}\right|^{k} & =\sum_{n=1}^{m}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k+k-1}\left|a_{n n} \lambda_{n} \varphi_{n} s_{n}\right|^{k} \leq \sum_{n=1}^{m}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k+k-1} a_{n n}^{k}\left|\lambda_{n}\right|^{k}\left|\varphi_{n}\right|^{k}\left|s_{n}\right|^{k} \\
& =O(1) \sum_{n=1}^{m}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k-1}\left|\lambda_{n}\right|^{k}\left|\varphi_{n}\right|^{k} \\
& =O(1) \sum_{n=1}^{m}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k} \frac{p_{n}}{P_{n}^{k}}\left|\lambda_{n}\right|\left|\varphi_{n}\right|^{k}\left(P_{n}\left|\lambda_{n}\right|\right)^{k-1}
\end{aligned}
$$

$$
=O(1) \sum_{n=1}^{m}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k} \frac{p_{n}}{P_{n}^{k}}\left|\lambda_{n} \| \varphi_{n}\right|^{k}=O(1) \quad \text { as } \quad m \rightarrow \infty,
$$

which completes the proof of Lemma 3.3.
Proof of Theorem 3.1. Since the convergence of Fourier series at a point is a local property of its generating function $f$, our theorem follows immediately from Lemma 3.3.

## 4. Conclusions

If we take $a_{n v}=\frac{p_{v}}{P_{n}}$ in Theorem 3.1, then we have a result of Theorem 2.2. Also, if we take $\delta=0$ in Theorem 3.1, we have a new result dealing with the $\left|A, p_{n}\right|_{k}$ summability of Fourier series.

## Acknowledgement

The author wishes her sincerest thanks to the referee for invaluable suggestions for the improvement of this paper.

## References

1. H. Bor, On two summability methods. Math. Proc. Cambridge Philos. Soc. 97 (1985), no. 1, 147-149.
2. H. Bor, On local property of $\left|\bar{N}, p_{n} ; \delta\right|_{k}$ summability of factored Fourier series. J. Math. Anal. Appl. 179 (1993), no. 2, 646-649.
3. H. Bor, A note on local property of factored Fourier series. Nonlinear Anal. 64 (2006), no. 3, 513-517.
4. G. H. Hardy, Divergent Series. Oxford, at the Clarendon Press, 1949.
5. H. S. Özarslan, H. N. Öğdük, Generalizations of two theorems on absolute summability methods. Aust. J. Math. Anal. Appl. 1 (2004), no. 2, Art. 13, 7 pp.
6. W. T. Sulaiman, Inclusion theorems for absolute matrix summability methods of an infinite series. IV. Indian J. Pure Appl. Math. 34 (2003), no. 11, 1547-1557.
7. W. T. Sulaiman, A study on local properties of Fourier series. Bull. Allahabad Math. Soc. 26 (2011), no. 1, 47-53.
8. W. T. Sulaiman, Some new factor theorem for absolute summability. Demonstratio Math. 46 (2013), no. 1, 149-156.
9. A. Zygmund, Trigonometrical Series. Instytut Matematyczny Polskiej Akademi Nauk, Warszawa-Lwów, 1935.
(Received 23.02.2020)
Department of Mathematics, Kirşehir Ahi Evran University, Kirşehir, Turkey
E-mail address: sebnemyildiz@ahievran.edu.tr

[^0]:    2020 Mathematics Subject Classification. 26D15, 40D15, 40F05, 40G99, 42A24.
    Key words and phrases. Hölder's inequality; Minkowski's inequality; Summability factors; Absolute matrix summability; Infinite series; Fourier series.

